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Guess Paper – 2008

Class – XII
Subject – Computer Science
Time allowed : 3 Hours






        Maximum Marks : 70

Note (i) All questions are compulsory. 

         (ii) Programming Language : C++

1. (a) Differentiate  between a global variable and a local variable. Also give suitable example in       

                 C++.










                               2

(b) Name the Header file(s) that shall be needed for successful compilation of the following 

      C++ code?
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void main()

{


char st[20];


gets(st);


if(isaplha(st[0])



cout<<”Starts with alphabet”;


else



cout<<strlen(st);

}










(c) Rewrite the following program after removing syntactical error(s) if any. Underline each              

     correction.
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#include<iostream.h>


#define SIZE =10


void main()


{



int a[SIZE]={10,20,30,40,50};



float x=2;



SIZE=5;

for(int i=0;i<SIZE;i++)




cout<<a[i]%x;


}

(d) Find the output of the following program :




                        3+2=5

      i)     #include<iostream.h>


#include<string.h>


struct Student


{



int rno;



char name[20];


};


void main()


{



student a[2]={1,”Amit”,}{2,”Sumit”}};



for(int i=0;i<2;i++)



{




cout<<”\n Rno”<<a[i].rno;




cout<<”\n Name “;




for(int j=0;j<strlen(a[i].name);j++)





cout<<a[i].name[i]<<” “;



}

}

ii) #include<iostream.h>

            int a=10;


void main()


{



void demo(int &,int,int*);



int a=20,b=5;

demo(::a,a,&b);


cout<<::a<<a<<b<<endl;



}



void demo(int &x,int y,int *z)



{




a+=x;




y*=a;




*z=a+y;





cout<<x<<y<<*z<<endl;



}

        (e) In the following C++ program , what will the maximum and minimum value of  r generated with the 

 help of random function.
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#include<iostream.h>


#include<stdlib.h>


void main()


{



int r;



randomize();



r=random(20)+random(2);



cout<<r;


}

(f) Answer the questions(i) and (ii) after going through the following class :                                           2

class Exam

{


int year;


public :



Exam(int y) { year=y; }



Exam(Exam &t);

}

(i) Create an object, such that it invokes constructor 1.

(ii) Write complete definition for constructor 2.

2.          Define a class Competition in C++ with the following descriptions:
                                            4

                
          

 Data Members
    
Event_no
                integer

           
Description

    char(30)

           
Score    

     integer

        
qualified

     char

 Member functions

           
 A constructor to assign initial values Event_No number  as 101,Description as “State level” Score is 

                50 , qualified ‘N’.

 Input()                         To take the input for event_no,description and score.

            Award(int)                    To award qualified as ‘Y’, if score is more than the cutoffscore  passed as 

                                                  argument to the function  else ‘N’.              

                Show()

  To display all the details.

3.            Answer the questions (i) to (iv) based on the following code :
                                        1+1+1+1=4

class Employee

{


int id;


protected :


char name[20];


char doj[20];


public :


Employee();


~Employee();


void get();


void show();

};

class Daily_wager : protected Employee

{


int wphour;

protected :


int nofhworked;


public :


void getd();


void showd();

};

class Payment : private Daily_wager

{


char date[10];


protected :


int amount;


public :


Payment();


~Payment();


void show();

};

(i) Name the type of Inheritance depicted in the above example.

(ii) Name the member functions accessible through the object of class Payment.

(iii) From the following, Identify the member function(s) that can be called directly from the object of class Daily_wager class

show()

getd()

get()

(iv) Name the base & derived class of Daily_wager class.

4.
(a) 
Write a function in C++ which accepts a character array and its size as an arguments and reverse  

                        that array without using second array and library function. 
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Example : if the array is having

 “Computer Science”

Then after reversal it should rearranged as 

“ecneicS retupmoC”


(b) An array A[13][14] is  stored  in  the  memory  along  the column with each element occupying  4 bytes. Find out the Base address and address of the element A[3][7] if the element A[4][4] is stored at the address 1300.      







        4  

(c) Write a function in C++ to delete a node containing names of student ,from a dynamically allocated stack of names implemented with the help of following structure :

         3

struct student

{


char name[20];


student *next;

};

(d) Consider the following portion of a program , which implements names queue for  Books . Write the definition of function Insert(), to insert a new node in the queue with required information    3

struct Book

{


char names[4][20];

};

class QueueofBooks

{


Book Q[10];


public :


int front ,rear;


QueueofBooks()


{



front=rear=-1;


}


void Insert();


void Delete();

};

(e) Evaluate the following postfix expression using a stack and show the contents of stack after execution of each operation:








          2

False,True , False , True ,Not, Or, True , Or, Or ,And

5.     a)  Asuming  a binary  file FUN.DAT   is containing  objects belonging to a class LAUGHTER(  as  
defined below). Write a user defined function in C++ to  add more objects belonging  to class 
LAUGHTER at the bottom  of it.                                                                                                                4 



  Class  LAUGHTER



   {   





   int   idno;





   char  Type[5];





   char Desc[255];



    PUBLIC:

  


 void  Newentry(){    cin>> Idno; gets(Type); gets(Desc);}

  


 void Showonscreen()
{  cout<<Idno<<” “<<Type<<endll<<Desc<<endl;}



  };

     b). Assuming that a text file named TEXT1.TEXT already contains some text written into it, write a 
function named vowelwords(), that reads the file TEXT1.TEXT  and creates a new  file named  
TEXT2.TEXT,which shall contain only  those words from the file TEXT1.TEXT   which  does not    

      start with an  uppercase vowel(i.e, with ‘A’,’E’,’I’,’O’,’U’). FOR  example, if the file TEXT1.TXT


contains.


Carry umbrella and Overcoat when it  Rains 


then the file TEXT2.TXT  shall contain 


Carry when it Rains.










          3

6.
(a)
What do you understand by Primary Key.






          2

(b) Consider the following tables Employee and salary. Write SQL commands for the statements (i) to (iv) and give outputs for SQL queries (v) to (viii)





          6




Table : Employee

	Eid
	Name
	Deptid
	Qualification
	Sex

	1
	Deepali Gupta
	101
	MCA
	F

	2
	Rajat Tyagi
	101
	BCA
	M

	3
	Hari Mohan
	102
	B.A
	M

	4
	Harry
	102
	M.A
	M

	5
	Sumit Mittal
	103
	B.Tech
	M

	6
	Jyoti
	101
	M.Tech
	F


Table : Salary

	Eid
	Basic
	DA
	HRA
	Bonus

	1
	6000
	2000
	2300
	200

	2
	2000
	300
	300
	30

	3
	1000
	300
	300
	40

	4
	1500
	390
	490
	30

	5
	8000
	900
	900
	80

	6
	10000
	300
	490
	89


(i) To display the frequency of employees department wise.

(ii) To list the names of those employees only whose name starts with ‘H’

(iii) To add a new column in salary table . the column name is total_sal.

(iv) To store the corresponding values in the total_sal column.

(v) Select name from employee where eid=(select eid from salary where basic= (select max(basic) from salary));

(vi) select max(basic) from salary where bonus >40;

(vii) Select count(*) from employee group by sex;

(viii) select Distinct deptid from Employee;

6. (a) 

State and prove the Distributive law algebraically.




         2

(b) Write the equivalent POS expression of following  SOP form

F (x,y,z)= ∑ (0,2,4,6)




                                             2

(c) Draw the Logical circuit of the following expression with the help of NAND gate only  1

       x+yz

(d) Obtain the simplified form of a Boolean expression using K-Map.                                   3

F(a,b,c,d)=∑(0,1,2,3,4,7,11,12,14)



      7. 
      (a)

What  are cookies.








         1


      (b)

Define the term Bandwidth. Give unit of  Bandwidth.



         1


      (c)

Expand the following terminology :




(i) Mbps
(ii) GSM




                                             1


      (d)

Define the term Firewall.




                                             1

(e) A company in Reliance has 4 wings of buildings as shown in the diagram:



[image: image1]
   Center to center distances between various Buildings:


W3 to W1


50m


W1 to W2


60m


W2 to W4 


25m


W4 to W3 


170m


W3 to W2


125m


W1 to w4


90m

     Number of computers in each of the wing:

    
W1

150


W2

15


W3

15


W4

25

Computers in each wing are networked but wings are not networked. The company has now decided to connect   

the wings also.

i) Suggest a most suitable cable layout of the connection between the wings.
                                             1

ii) Suggest the most suitable wing to house the server of this company with a suitable reason.
                     1

iii) Suggest the placement of the following devices with justification:

                                             1



1) Internet connecting device/modem



2) Switch / Hub

iv) The company is planning to link its head office situated in India with the offices at Reliance. Suggest an economic way to connect it; the company is ready to  compromise on the speed of connectivity. Justify your answer. 
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